ATS QUESTION BANK

INSTRUMENT MECHANIC THEORY LEVEL-1

Q 1. State the key action involved in stopping any bleeding / fedt sfifsT

& AP+ § Wid ggayef &1 g1

A). Elevation/ Tj)’_?ﬂg
B). Cooling/ PIGINED
C). Cleaning/ HW%
D). Pressure/ qdld

Q 2. Water is used to extinguish / qr=t &1 s%aHlm giHI:I & ﬁ"ﬂ'{ fooar Srar %

A). Class-A fires/ &lH-T CARCIEN
B). Class-B fires/ FATY-S BT AT
C). Class-C fires/ FATY-AT DY 3T
D). All of these / I gt

Q 3. The file is made of/%?‘ﬁ g+ Eﬁ?‘ﬁ %—

A). Mild steel / T3S &Id

B). High carbon steel / BT_sc CACE RSN
C). Copper / didl

D). Brass / aad

Q 4. Hacksaw blade is made of / FﬁET FHITT Bt A BT A8 F1 E’Pf?lT %

A). Copper/ GIEIR:

B). Brass / a3

C). Mild steel / AT &Id 9

D). High carbon steel / ET'SC FIaT L A

Q 5. The peen of a cross-peen hammer is / HIg-ui=a 3?-?[@ ARG Evpf?‘ﬂ %

A). angular to the handle/ %'501 P AIB HIofg
B). straight to the handle/ %'601 P dAIB YT




C). cross to the handle/ %ga LIES E}[?f gl
D). bent towards the handle/ %'601 CARGELD Pl g3l

Q 6. Which of the following operation, we can’t perform on drilling

machine? f&fT A= ux 89 FAufafed & @ @9-9 &17 78 X I6Hd §?

A). Reaming / QAT

B). Tapping / efum

C). Lapping / AT

D). None of these / 37'“?[ q Eblfg e

Q 7. The tool, which is used for laying out large circle is / ICEULN] g CEE
% U gwara foar oA arar ¢a @

A). Trammel /%I[FT
B). Divider / fgaIgeR
C). Calliper / CARLEY
D). Scriber / ¥hIgdR

Q 8. A divider is used for / fSAIZET &1 IWTTA fHaT SraT &

A). scribing circles / dd g & %Q
B). scribing arcs / dIU g & ]%UI
C). transferring and stepping of distance / Qﬁtﬁ CHRCIES azj;fr 3R Tyrarafia

HIH & [T
D). All of these / T gt

Q 9. Scriber is made of / ¥hIgdX d-[ BBR_‘IT %

A). Copper / GIEIE

B). High carbon steel / ETEC FHIaT Td I
C). Mild Steel / HI3TS €I A

D). Cast Iron / <l FﬁBT I

Q 10. Micrometre works on the principle of ./ ng?ﬁﬁ[ET ______ &
Rrgid U &1d HIa1 §




A). Screw / ¥p
B). Bolt / dlee

C). Bolt and nut / diee 3T AC
D). Stud / ¥ 8

Q 11. Vernier depth gauge is used for measuring ____ / gfHaR S AW &1
EESEIK] @ Ay & o fear orar @

A). external dimensions / EITE’QDI ATIH

B). internal dimensions / At STaHw

C). step, depth of blind hole / dXTI, 3y fsg B ‘Iﬁiilsr
D). pitch diameter / fUg &t g

Q 12. Which of the following is true / ﬁgﬁﬂ%a | ﬁ:f qd %

A). V=IR
B). V=I/R
C). V=IPR
D). V=RA

Q 13. Sl unit of electric current is / ﬁ@ﬁ T Pt qq&n‘g E'W'st %

A). Ampere / Eﬁ[’q?

B). Volt / dlee

C). Henry / %:Rof

D). None of these / 3-_-fff I ?Jbaf'sc :f_sbf

Q 14. AC stands for / THl &1 Addd &Idl @

A). Accumulative current / G394l ﬁ?{ﬁ?‘[ IR
B). Alternating current / garadl 41T

C). Active current / gfhd ﬁ?{ﬁ?‘f—‘iﬂﬂ

D). None of these / g:fff I a?r‘s‘ 7-[?['

Q 15. Example of electrical insulator is / i?:ng 5*@@1(1% DI 3ale U %

A). Mica / YD



B). Copper / didl
C). Silver / EIE]
D). Steel /@a

Q 16. For wire, SWG stands for / AR & [T, THS®YSN & HAAT Bidl §

A). Standard wire gauge / LUSS qrux O
B). Slot wire gauge / Wie arax I

C). Silver wire gauge / RGEECIRERIE

D). None of these / 37'“?[ I Eblfg :fébf

Q 17. Which part will surely tell that given motor is DC motor and not an
AC type? / ®IF-I1 fgw Ff¥d 0 § garem & fGar 7ar @iex th S dieR
g 9 & wdft Aexe

A). Winding / aI3f=T

B). Shaft / MUC

C). Commutator / $TCL%ET
D). Stator / TR

Q 18. Which power is mentioned on a name plate of a motor? / Tdh Hrex
F 99 We IR fHY ufar &1 IT [Har orar g2

A). Gross power / DI RCICES

B). Power drawn in kVA / %aﬁq o G¥h T['sC fad

C). Power drawn in kW / %3@113[ it ‘T'sC Trfad

D). Output power available at the shaft / QT¥C H Iuds 313cYc Sl

Q 19. Synchronous motors are / IREAGE: Iﬁ_c’?f%

A). not self starting / I wrfém :Tépf
B). self starting / J® wIfén

C). single excited / Ria Iafod

D). None of these / g:fff I a?r‘s‘ :T?T

Q 20. An induction motor can be said analogous to / U U0 HIeY B
& XY H o g&bdl §




A). Transformer / E\Tﬂtﬁfﬁ?

B). synchronous motor / QWW%$ Hrex
C). universal motor / qrdfAe Aiex

D). stepper motor / LW HeX

Q 21. Digital multimeter is used for ____ / f&fNec@ ARIHICI &1 WA
___ femera g

A). measuring a.c. and d.c. current, voltage and resistance / H.ﬁf. 3‘?[?
.3 faggd U, AR iR ufady & wud & fau

B). measuring a.c. current and voltage /Q.@f. ]%'E{ﬁa TN, AN A B
AT & fAT

C). measuring d.c. current and resistance /33[@[ ﬁqga I 3R ufady o1
AT & fAT

D). measuring a.c. voltage and resistance / U,.l:ﬁ. e N ufady &
AU & AT

Q 22. For resistance measurement, meter contains _ / ufady o AT &

forg, dex & wfya _ a1 ®1

A). high current source / 3 fdggd U1 &1 Ad

B). medium current source / HYH ﬁ&fﬁa YTRT BT A
C). low current source / % ﬁ?{ﬁﬁ Y]] BT HAd

D). low voltage source / 9 diees &1 9id

Q 23. Which of the following device can be used for measurement of
frequency? / FEfafad O ¥ f69 IUHIO &1 g@Td Mgy &1 AU & forg
fear o1 Gl g2

A). Voltmeter / Aeder
B). Ammeter / QJIﬂEQ

C). Stroboscope / @@[Fﬁa
D). None of these / _s':ff[ I Ebgfg :Tépf

Q 24. A power factor meter has : / Tdh OraY e HieT | S\Idl % :

A). One current circuit and two pressure circuits / Tdh ﬁij’ﬁa gRuy 3R Eﬁ



qarg uRuy

B). One current circuit and one pressure circuit / Uch ﬁ?ﬁ?‘f oy G?R T
qarg uRuy

C). Two current circuits and one pressure circuit / al ﬁa{qa ooy i Uh
a9 uRuy

D). None of these / ‘s’:{fr q ﬁ‘s‘ :[_sof

Q 25. With Ohm's law, if voltage increases and resistance stays the same:

/ 3NE & A & SguR, I dIe™ Fgdr § X ufady AT 91 I8 -

A). current remains the same / iaqu 1T A g §
B). power decreases / UigR HH E’Pf ol dl %

C). current increases / ﬁ@ﬁ YR d¢ STt %

D). resistance decreases / ufady &9 Epf ksl %

Q 26. What are the two major categories for resistors? /%ﬁﬂf? P Uqq

&1 Aforar B A g2

A). low and high ohmic value / ®H 3R I= Nfys A7
B). commercial and industrial / aforf® ez 3‘?@]3[&[$
C). low and high power value / GL 3T I UfaR &1 714
D). fixed and variable / g \3?[? trﬁfa%fwﬁa

Q 27. If three resistors of 10 ohm are connected in series then the
equivalent resistance is / df¢ 10 IE &1 dI9 IR P RCKS] o ST g3l g,
IHT gUg ufaiy g

A). 30 ohm / 30 3@
B). 20 ohm / 20 3
C). 15 ohm / 15 3Nd&
D). 5 ohm / 5 3N&

Q 28. If the Voltage increases, what happens to dielectric strength? /

n -

qIee™ & Tgq U, Urdegd A &1 1 gidl g2

A). Increases / dadl %
B). Decreases / Ycdl %



C). Remains the same / JHIH Igdl %
D). Becomes zero / [ f-?f SIldl %

Q 29. Output of a digital multimeter is ___ / feforea awdiwiex & 313 cygc

___®Qargl

A). Mechanical /‘CITﬁ$
B). Optical / aﬁ1@$a

C). Electrical / g?ﬁ%ﬁa
D). Analog / 9H¥:T

Q 30. What does a high resistance reading in both forward- and reverse-
bias directions indicate? /th“r’?aé-ﬁg Rad-argyg feomafi 7 3= ufady {fST
1 dHd B 82

A). A good diode/Tdh =3[ SIS

B). An open diode/Ud gdl g3l SIATS

C). A shorted diode/Ud TMNTE SIS

D). A defective ohmmeter / Ud ‘c?rtrqpf Gh_@'fﬁ?f?

2\ o,

Q 31. How many terminals does a diode have? / Tdh S1arE # feda efdad

gId 87

A). 1
B). 2
). 3
D). 4

Q 32. Which of the following is an atom composed of? / Ud UIH[T]

Fofofag & ¥ 579 fasz 971 g1ar g2

A). EIectrons/%’@faﬁT:f
B). Protons/@[a:f

C). Neutrons/@@'\f’:[

D). All of these / T I



Q 33. How is the waveform adjusted?/ dI Y & I AT fear s

87

A). by adjusting the voltage/ e & gETAId HId Y
B). through shift controls/ﬁTtEr $_;\Pf@:f & HIOH U

C). by reducing the current/dn?{'C P HH HIA gd

D). by means of a galvanometer/Udch TealNHeEY & AITH

Q 34. How is frequency related to time period? / Gqu%, gAY 3Ify I I
I§fd g2

A). square proportional/an \’rﬂﬂtﬂﬁf$
B). not related/ g fd :fﬁ%

C). directly proportional/?ﬁﬁ &rrauﬂ%@
D). inversely proportional/ Eﬁ_@”mﬂm?‘ﬁ

Q 35. Oscilloscope is ___ / ﬁaaaﬁﬁ% .

A). an ohmmeter/ Udh ey
B). an ammeter/Ucdh 3[FTeR

C). a voltmeter/Ud dqreHeR
D). a multimeter/Ud A HeR

Q 36. One hex digit is sometimes referred to as a(n) / b %W 3H

& pHt-HW T & =T H o1 o1 g

A). Byte/dIg<C

B). Nibble/MEd@

C). Grouping/‘gﬁ"{

D). Instruction/gg?ﬂﬂq

Q 37. As per Boolean algebra A(A+B)=7?/ qﬁ{q-‘-[ StSforg & STJHIY A(A
+B)="?

A). AB

B). 1

C). (1 + AB)
D). A



Q 38. Term 'program' is refers to any piece of __ /Roq NATH’ HT ATAS
& fodt v R

A). Software/ﬂquaq?
B). Hardware/aéatﬁ
C). Printer/ﬁ??
D). Mouse/HI3H

Q 39. All the following are computer input devices except for / fAgfafaa
Tt $geR gye feargy § Ryare-

A). Keyboard/ﬁa'_sc
B). Mouse/HI3Y

C). Joystick/\_rﬁtﬂ%$
D). Printer/ﬁf?

Q 40. The information stored in is erased when the computer is

______ # ©R # g€ ga fre wrd B

A). RPM
B). RAM
C). PAM
D). RTAM

P ISR BIdT ©

Q 41. A byte is equivalent to

A). 2 bits/2 faTH
B). 6 bits/6 fdcd
C). 8 bits/sfacy
D). 10 bits/10 faeH

Q42. ALU is : / TU@Y B :

A). Arithmetic Logic Unit/ Qﬁ?jﬁ%$ NISED q\ﬁf?f
B). Array Logic Unit/iﬁ NISED qﬁe



C). Application Logic Unit/ Q‘Fﬁaﬂﬂq NISED ?lﬁf
D). None of these / 37‘['3[ I a%’r‘s‘ :[E?f

Q 43. The 8051 can handle interrupt sources. / 8051

TP AT BT YaYT B ghdl g |

A). 3
B). 4
C).5
D). 6

Q 44. The 8051 has parallel 1/O ports. / 8051 |

AR Mg /3N WE grar g |

A). 2
B). 3
C). 4
D). 5

Q 45. In a measuring system, quantity under measurement is termed as

/U HIUY @ gunelt ®, 719 & Sfqid WA B FHEd ol

A). Measurand /ﬁ\_ﬂig
B). Controllers/$_§ffaﬁ
C). Sensors/ﬁﬂ?

D). Indicators/’é’%%f?

Q 46. Which transducer is known as ‘self-generating transducer’? / f&g

SIYSgUR P Yob - ET TISTUR HEA 82

A). Active transducer/J®Ig TSI

B). Passive transducer/aﬁ[a TSI

C). Secondary transducer/ JdH s ISR
D). Analog transducer/Q"IIﬂT*l giﬂsq\m

Q 47. Which of the following is an analog transducer? / fgfafea d 9
DHIF-I1 TH TATANT STASIAR g2




A). Encoders /3:[553[_6”@

B). Strain gauge/@,\:[ I

C). Digital tachometers/%ﬁffa eHIHTY
D). Limit switches/ﬁfﬁfﬁ’ g3y

Q 48. What is the principle of operation of LVDT? /Qa@f@ﬁ?ﬁ fog Rigia
TR BT HIAT 82

A). Mutual inductance/H 3 gSdC
B). Self-inductance/@ictb- LS dC

C). Permanence/@f??ﬂ

D). Reluctance/\”{ﬁ@'[

Q 49. Strain gauges are classified into ___ / @A:T NS &l L H aTﬁ§a fear
T B |

A). 3 types/3 UDIR &

B). 5 types/ 5 UBIX &
C). 7 types/ 7 UDIX &
D). 9 types/ 9 UbIX &

Q 50. Commonly used electrical strain gauge is __ / dIHI =Y q 5%?1*—”(‘1
far 19 aren gafiedd I AS __ 3

A). open type/ Q@f UHIR &

B). closed type/d<q TP &

C). unbounded type/3'l'1dld'%s qHIR &
D). bonded type/@TG’%g UHIR &

__/3dfeesd €9 99

Q 51. Electrical strain gauges measure changes in

____#Hufvgda & Argar g1

A). resistance, capacitance and inductance/i’%f@ﬂ,%qﬁﬁﬂ 3R T dc g
B). resistance only / HId YT

C). capacitance onIy/%Hﬁ Fufyey

D). inductance onIy/Shdﬂ LS dC Y




Q 52. What does the accelerometer measure? /Qa@rﬁfrrﬁa Gl _s'@ﬂzﬂﬂ
BT A1y & fore foar smar g2

A). Mass / «HHIH

B). Acceleration/cdX Tl
C). Velocity/a

D). Distance/gﬁ

Q 53. The device used to measure the fluid pressureis
gard & a9 B WU & AT sArd fobar o arer SR __ &
A). Hygrometer/ ETE'“J}[I?[E?

B). Calorimeter/%?ﬁﬂtﬂﬁq

C). Manometer/ﬁ:ﬁrﬁ_c’?

D). Thermometer/qlﬁtﬁaq

Q 54. Bourdon tube is used for the measurement of gauge pressure of

/SIS oq BT SWHTA ____ o 7S gaTd &I ATYA & ¢ far onar g

A). Gas/ﬁﬂ

B). Liquid fluid /a3 ugrd

C). Solid/31d

D). both gas and liquid fluid / TF 3N TIA Uiy ari

Q 55. Sl unit of pressure is / &ld Pl QF&IT_QC _&'Tﬂi‘: %

A). Ohms /319"
B). Pascal/UlXhd
C). Joules/Sd
D). Watts/dIC

Q 56. Which of the following conversion take place in Bourdon tubes? /

ged ogd ¥ Aufafad # 9 &1 W ®uiaro ¥ud i1 g2

A). Pressure to displacement/ U 9 faTurgqa
B). Pressure to voltage /ﬁrm J diee s



C). Pressure to strain/ﬁf?ﬂ? I @A:f
D). Pressure to force/aQT? T §d

Q 57. For the measurement of pressure the instruments used can be : /

TEId b ATYY & fOIT SWHT [T 917 911 SUYHIV 81 bl © -

A). Mechanical /’CITﬁ$

B). Electro — mechanical/ 3(-'\10@ - EI-5|‘>Ir\0b('1
C). EIectronic/“&'@fE@Tﬁ$

D). All of these / T Tl

Q 58. measures velocity at a point of fluid in a stream.

/e TP UdIE # &9 & U® fdg U a7 ! ATl § |

A). Venturi meter/ ?f‘g’ﬁ Hex

B). pH meter/pH Hex

C). Pitot-Static tubes/ﬁaa— Qﬁ$ _d
D). Ammeter/ Qﬁ[??

Q 59. Which of the following conversions take place in float element? /

Tie uferde # Rufafad & 9 o19-3 Tuidru yfpar gidt g2

A). Level to force/@faa I 9d

B). Level to voltage/add T diee

C). Level to displacement/ NEGERCEJILE
D). None of these / 3-_-fff I ?Jbaf'sc :f_sbf

Q 60. In _ _system, float whose weight greater than liquid
to be displaced is used. /_ _ LI ff, Tae fNg®T 994
faTfad 819 ard 9 ¥ of¥®w a1 8, &1 s} fobar s g

A). Inverse float system/ ‘s’:raﬁ TdIe gomet

B). Displacer system/ faTurgT gomet

C). Magnifying float system/ nafia wire yomeh
D). Vertical float system / aa‘%a Tae e n



Q 61. Which of the following devices are used for level to force
conversion? / FEfafad O ¥ ¥ IUHIU &1 SWHATA ddd J 97 &
U0 & Iy fear Srar g2

A). Load ceII/Fﬁg aqd
B). I\/Iembrane/fﬁa:f
C). Diaphragm/SIAIIH
D). VoItmeter/aRIﬂE?

Q 62. The most common application of float system is : / Tire RTH &
qIY AT ST @

A). To monitor the fuel tank level in motor vehicle/l-I\ICQ oé]opm ff W o %$
& TR Pt Wg HIT & AT

B). To monitor the flow of solid/31g USIYUl & UATE &I ST HIH & AT

C). To monitor the flow of liquid / dX& UGIUl & UATE P! &id HIF & AT
D). All of these/a gt

Q 63. Capacitive devices are used for the level measurement of : /

FURIfCT IUHIN BT IXTHTA Tdg P AU & T fobar o @

A). Only liquid /&dd a3d Uil &

B). Solid in powdered form /U3 SX % ¥U H 39 &

C). Both liquid and solid in powdered form / dXd 3R 31Y C:I'-I\I q3ISI B
U H

D). None of these / 3'_'Tff I Eblfg :fﬁ

/u% fgurfa® a@ &

JAGT ___ Rl

A). Strain/e:f

B). Pressure/cdld

C). Displacement/ﬁ@ﬂqq
D). VoItage/EﬁéTﬂ

Q 65. Which of the following can be used for measuring temperature? /

Fofafad d ¥ P sura daruwr= A1y & fau fFar o1 9o g2




A). Metallic diaphragm/ Aelfa® STaThTH

B). Fluid expansion system/ UcJg'S QW‘}[QT:T s
C). Capsule/%uaff

D). Bourdon tube/aﬁé:f Qd

Q 66. Optical ___
objects. This relies on blackbody radiation. / dv&g@rﬁ & AIHIT Hf 719 &
fae siiPewa ___ & SWATA G Sal ¢ | I8 P aiel & [AfHo u”
R HIar ® |

is utilized to measure the temperature of

A). Spectroscopy/ @raejmfrd’r
B). Pyrometry/mgﬁﬁa

C). Geometry/GCITﬁ[ﬁf

D). Reflection/qﬂa?f:f

Q 67. Resistive transducers are /qﬁfﬁﬂ$ QT'HTEELH?

A). Primary transducers/ mgqﬂ QTH@HT

B). Secondary transducers/ b Sl TSI

C). Both primary and secondary transducers / UISHI AT b TSR
A

D). virtual transducers/ aéa{a TSI

Q 68. Which of the following can be measured using change in resistivity?

yufaiysmar # uRadT o3 Fufafea 7 @ 53 wor 1 9 g2

A). Temperature/dIdHIT

B). Visible radiation/ﬁ“@ﬂ‘ic ?{i‘[ arar fafeon
C). Moisture content/'_ﬂ:ﬁ CAREIE]

D). All of these / T gt

Q 69. Pressure measurement devices make use of __ /ald qrg ardl
ITHI & IWHT HIaT & |

A). non-elastic member /ﬁ?—sﬂlﬂt\cqv Jad
B). elastic member/SﬂIIr%\Cd> e




C). bendable member/agaa oy
D). non-bendable member/ﬁ?—agaa ¥

Q 70. In P to | converter current will come through : /Tﬂ I \3‘|T_5c P P
U fagqgd-uIT 39 @y ¥ Snud:

A). Resistor/%%fﬁ?

B). Volta meter/ﬁ?ﬁ'ﬁ??

C). LVDT/UddI St

D). None of these / 37'“?[ I Eblfg :fébf

Q 71. Generally pressure measuring device used in P to | converter is : /

AT =0 I | J 313 H9¢I § AT g7 ardl &Id ATY= ardl IUBI ¢ -

A). BeIIow/aWﬁ

B). Manometer/ﬁ:ﬁlﬁfq

C). Thermometer/qﬁIﬁET

D). None of these / g:{ﬁ q ﬁs‘ :[_Eof

Q72. is not a final control element. / 3ffaw

Harg ufade gt g |

A). Control valve/$_§;f?1' dled

B). Potentiometer / e RrarHeR

C). Electro-pneumatic converter / sadc:l*j_\ali?iw d)ﬂdé{
D). Servomotor /Ffﬁrﬁf?

Q 73. In pneumatic control systems, the control valve used as final control
element converts /argarg Mo gonfadl d, sifdw sgra tfade & w0 4
WA fHar o1 aren Seid ared uRafdd &3 §

A). Pressure signal to electric signal /ﬁ‘ﬂ? ud &1 _&'@f@$ ga d
B). Pressure signal to position change / TR RUd & Woned 99 #
C). Electric signal to pressure signal /3@[@% {ad & U9 R{ua |
D). Position change to pressure signal /tﬁGﬁQT:f ECKIREER PR



Q 74. In a control system the output of the controller is given to /Ud
Hord Rwed ¥ HraR &1 sn3cye fgar ordr §

A). final control element / IgHd o'b;\m Qﬁfﬁ?
B). Amplifier / THIIIYR

C). comparator /aﬁraa

D). Sensor /ﬁﬂ?

Q 75. The advantage(s) of automatic industrial control is (are) :/Eaﬂ%ﬁf

MNP Hard B Y B (7)

A). Better productivity / aE;cN Sl dl

B). Automation / AfaragT

C). reduction in operating cost / gf=ra ard ff HHl
D). All of these / I gt

Q 76. Pneumatic systems are operated by : /EITZ[E?[H gunferai Iarfard @t
ot 8

A). Compressed air / HUITSd g1 I
B). compressed water / H'tﬁ%a =t gI’n
C). CNG / TSl g

D). None of these / 3-_-@[ I a?r‘s‘ 7-[?3['

Q 77. The acronym PLC stands for: /qu‘TW&W Tﬁ‘lﬂ?ﬁ CARGIGE ﬁ?ﬂ %:

A). Pressure Load Control /ﬁm qE aia;‘ra

B). Programmable Logic Controller / MIAFITT AToTD $_§.\Pf?ﬁ
C). Pneumatic Logic Capstan /?{ﬁﬁ%$ AT® B

D). PID Loop Controller / tﬂaﬂéﬁf oy $§-T?T?

Q 78. The PLC is used in ____ /Hiu@dl &1 3dd _ # far orar @
A). machine tools / ERIE] cd

B). computer /$ELL€T

C). Keyboard /$)fa'_st

D). Mobile phone / Iﬁﬁﬂga BT



Q 79. LAN stands for : / &< &I Addd gldl § :

A). Local Area Network/ NIEAS Qﬁtﬂ G
B). Local Arc Network / AP 3P ATTD
C). Local Area Netwear / NIEAS QﬁTIT EEEES
D). None of these / g:fff I a?r‘s‘ :T?T

Q 80. High speed ethernet works on : / 8T'5£ s iﬂ(qc DTH HIdl % :

A). coaxial cable /ﬂIIT&‘ﬁq HIA

B). twisted pair cable / 1?1%3 Uy »ad
C). optical fibre / 3ﬁf§$ﬂ LAECR

D). None of these / _s':fff I ﬁé :[ﬁ

Q 81. Which of the following represents telemetry? /ﬁﬁqﬁ'f@a 7 I B
corad &1 ufaffra &3 ge

A). Fetching data from inaccessible point / s"IQORTI{-I@Im LJT{?C ﬁ 3CI grtd
HIAT

B). Fetching data from accessible point /QOH-‘\IHGIG HT{EC ﬁ %CI YUItd h ]
C). Communication over telephone / TH®BIT & AT I $T§ﬁr$m=r
D). None of these / 3'—'@[ I Ebaf'sc '_-Té)f

Q 82. Telemetry includes data transfer over /%Fﬁf[@ H L & HIHH
¥ 3T DI TYHR HIAT WHT g

A). Wireless modes / JIgIAY A'S

B). Optical fibre link / 3PP d BIgR foid

C). Computer link / $eR fd®

D). Wireless modes, Optical fibre link and Computer link. /aTtrq?m ﬁf@,
Ifpwd BIgar foid, v fdsw

Q 83. Which of the following represents a telemeter? / fofafea # 9 BT
U® eatier &1 ufafifia sar 2

A). Analog device /TATAIT fSaT3Y



B). Digital device /%ﬁffa %HT_Q'H
C). Both analog and digital device / Q'_ﬂFﬁ‘T R fsfoea G| %Tﬂgﬂ
D). None of these / _Q"TE[ I ﬁé :[ﬁ

Q 84. For telemetry,all kind of informations are converted into

cAad & fay, Ut Uk & gIArsi &l

¥ gcd fear wrar g |

A). Magnetic data /ﬁﬁ%$ SIcl
B). Electrical data / salrat;d?m SIcl
C). Optical data / eﬁ@$a SIdl

D). LASER data / @9IX STl

Q 85. Telemetry allow data flowin ____ / %Fﬁf[_;ﬁ ST B _ | garfed
g ST B

A). Single direction / Tdh femm A

B). Both direction /Eﬁ:ﬁ %Qﬂ\’rﬁ A

C). Depend on design / TS IR MR Hxar @
D). Only upward direction / Had U3 e o

Q 86. The acronym DCS stands for: / I =g @@QH Dl Hddd EPTHT %:

A). Distributed Control System / %R\goq\és d‘)(j:lﬂ Ry

B). Direct Cascade Sequencing / Slq\ﬁdc ?M'éhs ﬁ[ﬁﬂ

C). Differential Concentration Switch /%qua O'b%ic\;ﬁll"l Rad
D). Digital Control System fsfored Obg\lﬂ wn

Q 87. Which of the following is the simplest of pH meters? / IERCINIEG] 7Y
&1 pH TR FHT ITF XA T 82

A). Null-detector type pH meter / Ta-fgTFe <IgY pH Hrex

B). Direct reading type pH meter / STg¥ae QTS cIgU pH Hiex
C). Digital pH meter / fefoea pH Hex

D). Modern pH meter / &H‘ﬂlr'\ﬁw pH e

Q 88. The electrodes used in pH measurement have which of the following
internal resistances? / pH ﬁ J-IIH:I ff s%eﬂ-llﬂ Eﬁi{ dl@l 50\10@5 ff ﬁ'ﬁ%@a




7 F o a1 ialke ufady grar g2

A). Very low resistance / dgd $H ufaiy

B). Moderate resistance . / HYIH ufady

C). Very high resistance / dgd % ufady
D). Zero resistance / LU gy

Q 89. Which of the following transducers must be used for dissolved

oxygen analyser? / ‘gi?m TRNST & AT & ﬁffq fFafafed § ¥ f&y
CIISIUR BT WA fbar o1 =nfg

A). Potentiometric / tﬁéﬁﬁﬁﬁ%$

B). Polarographic / PRI

C). lon-selective electrode / 31I¢I-I-{?I€1IFGTCCI 5@10@6
D). Optical transducer / JHTPH A SEIISPE KR

Q 90. How does solubility of oxygen in water change with respect to
temperature? / OI-1 § SIRATT & gaTMad aram= & HJAR HY gaad

g7

A). It decreases with increase in temperature / dIUHIH & ®|<§:I g Ycdl %
B). It increases with increase in temperature / dlUHIH & dqa:l UR dedl %
C). It decreases with decrease in temperature / dIUHIH & gcH g¥ gcdl %
D). It does not depend on temperature / g dIUHIT U BRIy ERIEEGI %

Q 91. Which of the following bridges are used in dissolved oxygen

analyser? /Rufifad & 9 &9 fas &1 smd giaa siiwiis & fazayor §
foar o 82

A). Kelvin’s bridge / Ffead &1 fo

B). Wheatstone bridge / dtewq &1 fow
C). Schering’s bridge / AR @1 9T

D). Anderson’s bridge / TgIGT Bl fos

Q 92. The sensors are classified on the basis of : / I BT IIHIT BRI &
YT o far Srar g |

A). Functions / cag



B). Performance / Uan:f
C). Output / 313CYc
D). All of these / T gt

Q 93. Which instrument is used for measuring only direct current? / FId
3 41 & WU & AT SITH IUHI &1 YA fbar Sirar g2

A). Moving-iron type/ 'EL%W HIYIT YhIX

B). Permanent magnet type / YTt %\[a@ UhIR
C). Electro dynamic type / ﬁqga-ﬂﬁraﬁ UhIR
D). Hot wire type / Blc dIaY UHIR

Q 94. Which of these is the most efficient form of damping used in
electrical instruments? / S8 ¥ &I 41 faggd IUHION & IUAT fT A7
I HAGH & 99 HIA T g2

A). Fluid friction / §d 9§

B). Air friction / dIg g1

C). Eddy current / Q@OI HIT

D). None of these / ‘s’qﬁ I a?r‘s‘ :[Epf

Q 95. To convert a moving coil galvanometer into an ammeter, one has to
connect ..../ 3T ®Izd Ad-iier 1 uiier ¥ §ed7 & AU ot o
HAFR HIAT I |

A). A high resistance in series / %j@?ﬂ | TUh 3 ufady
B). A high resistance in parallel / JATAIAR H Tdh 3 fady
C). A small resistance in series / %j@?’ﬂ H U IGL ufay
D). A small resistance in parallel / JHTFIAY ﬁQ$ g ufaiy

Q 96. The smallest change in the input signal that will result in a
measurable change in the output signal of an instrument is referred to as
............... / 39e fqua & gaan uRad+ S9d aRmawwy fed Sumu
& of3cyc Rud # oi¥d gl & yRadd g, g9 & g H ST
SIGI

A). Resolution / ICRCE]
B). Accuracy / qﬁ?lq_s{?ﬂ



C). Sensitivity / dagaefiadr
D). Threshold /Fﬁrﬂ 3G

Q 97. The ease with which observations in a measuring instrument can be
made is referred to as .............. / d& YITHdI ISEE Tdh HIUT SUDH U] b
JIAHA P TIsd g I ¥ w0 # gefiq foar 1 goan g
A). Sensitivity / REFE RN

B). Accuracy / Uﬁ'?ﬂ@'?ﬂ

C). Precision / J&HdI

D). Readability / UTSIdI

Q 98. The function of a transducer is .................. / b E:[HS@H? G2l Wj%

A). To amplify input signal / 1Y<C IREK deldl

B). To modify input signal / 1Y<C Rud o Ifdd s

C). To convert primary signal into more useful quantity usually an
electrical impulse/ WIYM® FHd ®I ifdew Iudrh aran # uRafaa &3=n o
fo AR UR UH fagygd SmaT gidar §

D). To codify input signal / §9YC {ua ! {-ilr%dIQqQ CRE|

Q 99. A bolometer is used to measure which of the following parameter? /

TH AAHI BT IuNT 9 & § g audel o 7a1us & e fFay sndr g2

A). Humidity / 3Tgdl

B). Electromagnetic radiation / ﬁ?{ﬁ?‘f ﬂWﬁq fafe3or
C). Air pressure / dIg-qld

D). Fluid density / dXd-Ydd

Q 100. Pyrometer is an instrument which is used to measure ................. /
qrsAHe TS U1 47 § e Iuam s & fu fear smar g

A). Specific gravity / fafry Ix=d

B). High temperature / 3= dIUHIAT

C). Pressure / ald

D). Density / Ydd



Q 101. To measure the intensity of light, light meters use a sensor called a
photodiode, which is a .............. / UBT B digdl &l 71U & T, B
e TP BSOS M9 AW HI IUATHIA G, N TH ____ g
A). Conductor / Jdlddd

B). Semiconductor / AdATAD

C). Insulator / ﬁﬂ'?ﬂ%’$

D). Convertor / HIIEY

Q 102. Absolute pressure = ........coevvvvennnnnn. AU kI
A). Atmospheric pressure + Gauge pressure / dlJ-ald + T ar9

B). Vacuum pressure—Atmospheric pressure / aa:*‘lq ald-drg-caid
C). Vacuum pressure + Atmospheric pressure / %aqq ald + dIg-qld
D). Atmospheric pressure—Gauge pressure / aTﬂ—aTa—ﬁ\_ﬂ ald

Q 103. An ideal fluid ..ooevveenn.. / UH ey 9 -

A). Has no viscosity / H ﬁé ELIELILE] 7-[33[' E?f?ﬂ

B). Is incompressible / Iqursy E»PTHT%

C). Has no surface tension /ff OI‘;I$r Uy d-id "I‘c‘:\l' S\Idl
D). All of these / T gt

Q 104. What is a rotameter used for? / JecHiey &1 gAT fogs ﬁ‘fq far
STl 82

A). To measure flow of fluids/ &d & Jdig P ATYA B ﬁfq

B). To measure vortex flow / dh[HIX Ydig &I J1Y & ﬁ‘fq

C). To measure velocity of flow in a pipe / U UIgY H YdIg & d7 &I HUA
& farg

D). None of these / '&':Tﬁ I Eb;fg :T?T

Q 105. The input impedance of OP-AMP is ............... / OP-AMP aﬁg:fg?f

gfafear gt |

A). Very high / dgd 3=



B). Zero / ][
C). Very low / dgd Ay
D). Equal to one / Udh *® ga19

Q 106. What is not measured by CRO? / CRO gIRT &I HIUI qu SITdl %?

A). Amplitude / 3TUIH
B). Phase / B9

C). Current / [dggq Uag
D). Frequency / &ITT{%

Q 107. UPS stands for ................. / QI ¥ YT §-

A). Unified Power Stabilizer / E‘Lﬁtﬂgg grdr @ang—ﬂ
B). Uninterrupted Power Supply / G{:TEFE?Q@ qrax HW§
C). Unity Power Factor System /qﬁre"r UfaR hae? R
D). Unified Power Supply / qﬁtﬁrs’g grax ﬂlfﬂg

Q 108. If the back e.m.f. is absent in a d.c. motor, what will happen? / Z[ﬁ'

UF d.c. WX T F e.m.f. ATURT 1, O T M2

A). Motor will run at a very high speed /ﬁfET qdgd o 3ffd® 1fd ux At
B). Motor will run at a very low speed / Hrex dgd Bl ®H Tfd ux gt
C). Motor will burn /IﬁET od \_rlTQTﬁ

D). Motor will not run at all /ﬁf?.'? ch'_g)'_?f ’J-ﬁ:onf EEklil

Q 109. What instrument is used for measurement of insulation resistance?

/ AT Uiy & 70 & AT 69 IUSIT BT IuAT e aran g2

A). Ohmmeter / aNHATY
B). Meggar / AR

C). Multimeter / Aol AR
D). Avometer / Qfﬁﬁh Hiex

Q 110. What is peak voltage in a 220 V alternating current source? / 220V

& gATIdl 9T TWd | Ui diees R/ gt 82




A). 220 V
B). 415 V
C). About 260 V/ 260 V & 3T9UTY
D). About 310 V / 310 V & 3TTUTY

Q 111. Induction wattmeter can be used in .............. / SSHIA arecHieY &1
PRIR ¥ foar 1 9o 7|

A). DC circuits only/ ®dd pc gfhe &
B). AC circuits only/ ®dd AC gfhe A
C). AC 3-phase circuits only / HId AC 3-B gfbe A
D). Both AC and DC circuits/ AC 3fiR pc gfdhe g &

Q 112. Zener diode is used for ......ccooevvenn... / S TATS BT ST
¥ fae fear orar g1

A). Amplification / ugeq

B). Rectification / L RIRE]

C). Voltage regulation / qree s %‘Ia‘ﬂ-_‘[
D). Modulation /ﬁsq@rmq

Q 113. The process of adding impurities in making of semiconductors is

called ....... / Sdarad 917 | il &l shew & ufear & FHEl

A). Doping / Sifti ( HigH)
B). Diffusing / %qqﬁm
C). Mixing / fafed

D). Refining / ﬁ"th—fgﬁﬂ

Q 114. What is the binary equivalent of the decimal number 23? / GRIHdJd
HEAT 23 & A3 IADBE FIT 62

A). 10000
B). 10001
C). 10011
D). 10111



Q 115. One byte is equal to how many bits? / Td dIgc feaa %E’Ha;
CREREE,

A). 4 bits / 4 929
B). 8 bits / 8 faTY
C). 12 bits / 12 fdTH
D). 16 bits / 16 f9CH

Q 116. Piezoelectric ................ crystal is used in crystal oscillator. /
_________ fred &1 yai fhwed dras & fFar orar §)

A). Diamond / SIgHE

B). Quartz / W_CEGT

C). Glass / ¥

D). Artificial / 3MfEpRITT

Q 117. Which of these is internal memory of computer? / _&"_'Tﬁ I HrA
HTI B MaAR® AW g2

A). Disc / e

B). Pen drive / e gled
C). RAM / XH

D). CD / WIS

Q 118. The response of pneumatic control valve is ............... than that of
electrical motor operated control valve. / gty AIF ared ot gfafear
faggd Mex darfaa Ao areg & gan o gt gl

A). Slower / et

B). Faster / Ol

C). Sluggish/ Hg

D). None of these / '&':Tﬁ I Ebafg 7'[?['

Q 119. If the temperature of a metallic resistor is increased, the product
of its resistivity and conductivity .............. / afe fe<d 4rd ufady®s &
ATUHT 1A S1aT 8, O 390! UfaQysar ik Iardwdl & IdTg




A). Increases / dadl %

B). Decreases / Ycdl %

C). Remains the same/ JHIH Xgdl %

D). May increase or decrease / dg Il U< oo dl %

Q 120. Intel 8085 is @ ..ovvvvvvvvinnnnnnnnn. microprocessor. /s"%a 8085 Udh

________ HAISHIMIAII T |
A). 8 bit / 8 fae

B). 16 bit / 16 fa¢T
C). 32 bit / 32 fae
D). 64 bit / 64 faT

Q 121. Variable frequency drive (VFD) is used to control speed of
.................. / AR 3MIRI GIZT (VD) BT IUAMT ______ & 1fd & [dfa
®I3 & fae fvar srar g

A). DC motors / DC Hrex
B). AC motors / AC Hrex
C). Both DC and AC motors / DC 3R AC HIEX QI
D). Neither DC nor AC motors / -l a pc T 3)[ AC

Q 122. In electro-pneumatic control systems, proximity sensors are used
as ..o, / 3AFI-aradryg HEFu gunfadl o, Mecd 9% &1 3udIT
& ¥U H far orar 2

A). Input elements / §1YcC Qﬁfﬁ_c’

B). Output elements / 3T3CYc Qﬁfﬁ_c’

C). Both input and output elements / §1Y<C 3R 33 cyYc Eﬁrﬁf—d G|
D). Feedback elements / u%’r:c;%a? Qﬁ‘fﬁ?

Q 123. What does 'CD - ROM' mean? / 'CD - ROM' &1 T Y B2

A). Compact data, read only memory / AL G Sldl, g si=elt AFS
B). Comparable disk, read only memory / HHITT %%Ob, g sfaelt AFd
C). Compact disk, read only memory / At G %W, Jde sfaet AFS




D). Coordinated data, read only memory / FHr3eafes Sldl, Jde snach
g

Q 124. The quality of a printer is measured in terms of ................... / Uh

fiiex &t quras &I & ded o AT o g |

A). Dots printed per unit time/ Ufd gfAc guy ¥ fiic gu iy
B). Dots per inch /S'TE[H ufd EE)

C). Dots per square inch /E'TEIG ufa gt EEl

D). None of these / 's’=rff I Eblfg :fébf

Q 125. One horsepower = .........ccuvee... / b E\Tlﬁtﬂa? =
A). 100 watt / 100 dIC

B). 647 watt / 647 dIC

C). 746 watt / 746 dIC

D). 1000 watt / 1000 dIc

Q 126. A barometer is used to measure ................. / TUh %@rrﬁ‘a G2l
I P! AU & fore fear S g

A). Atmospheric pressure / dIg - &ld
B). Absolute pressure / BRG]
C). Gauge pressure / TS ar9

D). Any pressure / CAER AL

Q 127. The functioning element of vapour pressure thermometer is
................. /aTY 9 yEHe e ufde @i gl
A). Dial / SIUd

B). Bulb / ded

C). Pointer / U\TJ_&;'EY

D). Bourdon tube / GG _;d

Q 128. Bernoulli's equation is relevant to .............ooeveenns / g7l &1
gt & HIET T




A). Electrical circuits / 5@[@$a gfee
B). Flow of fluids / <d Udlg

C). Magnetism /ﬂa$a

D). Heat transfer / S BHT =TT

Q 129. Alternating voltage across a resistance can be measured by using
............. / TF iy & UR IS S drees ol HT IUAT
HIP AU S GH T 5 |

A). Hot wire voltmeter / ETE' argx diecHIeR
B). Potentiometer / e fRIarHeR
A A \_O

C). Moving coil galvanometer / EL]%"W Ob\lsﬂ MTedHIHICR
A N

D). Moving magnet galvanometer / E[fq""'f AT TeaAdieR

Q 130. Open circuit test on a transformer is done to find ............. /
SABHY IR iU gfhe e I B & AU fHar Srar g
A). Copper loss / dI¥ ETﬁ

B). Iron loss / ST ETﬁf

C). Only eddy current loss / Hdd QSQ[ DT ETﬁ

D). None of these / '&':Tﬁ I Eb;fg :T?T

Q 131. Constantan is used for measurement of dynamic strain. It is an
alloy of ........ / BT B IuAT Afafd 9919 & /YA & A€ fHar snar gl
g5 &1 U Yy uTg 2|

A). Copper and aluminium / didl 3R Q@lﬂﬁqq
B). Copper and nickel / dIdl 3R Aopd

C). Nickel and chromium / Aed e?rq HIfaay

D). Nickel and molybdenum /ﬁma 3R AifersgTH

Q 132. Which sensor is used to generate information in obstacle
avoidance? / S Hd 3fdlsed U I 3T B & [T fog I &1
39N fhar Srar g2

A). Hall Effect Sensor / 6T('1 $dec IR

B). Proximity Sensor / mfafadt g3



C). Light Sensor / dIg<C I
D). Optical sensor / 3‘|’Tf@$a JgT

Q 133. It is the ability of a sensor to indicate the same output over a
period of time for a constant input. / g ddd gdYc ® ﬁfm TUh ﬁﬂfﬁﬁ
quag ¥ A 13cyc Sd &9 B IR B U gl 7|

A). Stability / TUTRI@
B). Resolution /ﬁﬁ?{q
C). Error / ﬁ?.pf

D). Impedance / ufasen

Q 134. What principle applies in the use of pitot tube? / fucre _d &
AT & B9 a1 Rgid v g g2

A). Boyle's law / ggd &1 g

B). Hooke's law / g &I g

C). Lami's theorem / ardt &1 UAy

D). Bernoulli's theorem /a:ﬁ?ﬁ CARE:E

Q 135. Tachometer is used for measurement of .......covvvivviviinnn.. / %ﬁ'ﬁﬁ??
HTIUAT ___ & WU & AT fear S g |

A). Speed / fa

B). RPM / IRUITH

C). Distance covered / dd CARIE] gi’r

D). Acceleration / «dXT[

Q 136. Which term describes the amount of fluid that is passing a point at
a given time? / ®IF U1 Vs U (YT 907 § tx fdg I 7oA a1 59 &
AT &1 9T HIT 82

A). Flow rate / Udlg-aX

B). Total flow / < Udlg

C). Turbulent flow / E@t@f?f Udre
D). Laminar flow / afaR Udie



Q 137. Removing dull grains in order to make grinding wheel sharp is

known as ..../ UNUI Ufgd & dW HI9 & 1T Y U= &I gerr
IH I AT ST g

A). Loading / arfe
B). Glazing / ‘@fﬁm
C). Dressing / 31%[7[
D). Truing / g‘a’ﬂ

Q 138. Asteelruleisa ......c.evvennnn.. / T gId g
A). Checking instrument / Srg IUHI0

B). Precision measuring instrument / qﬁ*{g&' HITT SUDBRT]

C). Direct reading measuring instrument / STg¥ae AfET 7199 IUSHIT
D). Marking instrument / &= ITHI

Q 139. Which grade of file is used if large quantity of metal is to be
removed rapidly? / Ifg o1g & IS WA BT ASH I gerar A1 § o g IS
@1 Xt BT U farar S g2

A). Smooth file / ¥{a Xt

B). Dead smooth file / 33 Ha bl
C). Rough file / XYW b5l

D). Second cut file / AHE HT Yadl

Q 140. What is the unit of measurement of electromotive force? /

sATIAIRT 9 & HIUT B SHIs FT |2

A). Ampere / QIEﬂER
B). Volt / dleC

C). Watt / dIc

D). Newton / c-

Q 141. Which transformer does not provide isolation between input and
output? / BT IT THHIHR $AYET IR MITYC & &1 AT U A5l Bl

87

A). Step-up transformer / XY-37Y aﬁtﬁfﬁ?



B). Current transformer / HIT E\Tﬂtb—[ﬁq
C). Auto transformer / 3ffer ETFWﬁT
D). Instrument transformer / 3UH U] E\Tﬂtb—[ﬁT

Q 142. What is the purpose of providing a mirror on pointer type
precision meters? / 13X €IsY URYGAl HIeR UR UdH YU UaIH HIA Bl
I T §?

A). To avoid friction / gy § 947
B). To avoid parallax / NEERCEE
C). To avoid heating / dIUH I g
D). To avoid hysteresis / %Qﬁ@fﬂ I g9

Q 143. In a half wave rectifier, if the mains frequency is 50 Hz, the output
frequency of the pulsating DC will be ....... / TD gl 39 IfgewraR ff, afg
A9 &1 31gfi 50 Hz §, o T e &t smgeye emgfr
A). 25 Hz

B). 50 Hz

C). 75 Hz

D). 100 Hz

Q 144. The digits used in binary number system are .............. / EIT'&"_N)[ d93
gonet § IUAT fHT o7 A 3B ad ¥

A). 0, 0
B). 0, 1
C). 1,2
D). 2, 2

Q 145. What is another name for inverter gate? / 3'71’_& e &1 QXM ATH
T 82

A). NOR
B). NOT
C). NAND
D). AND



Q 146. Which of these is not a pressure measuring device? / _"Q':fﬁ J B
T 919 AU arel IUHR Ag) 87

A). Thermocouple / yAfeTd

B). Barometer / Qe

C). Manometer / dteR

D). McLeod gauge / Anfordrs O

Q 147. The unit of magnetic flux density is .................... / ﬂdd';\lq UeT R
g9 Pl IHIS © -

A). Weber / IR

B). Weber per metre / Jsr ufg dex

C). Tesla / RSl

D). Ampere per metre / Q&W? ufa dex



LEVEL 1 ANSWER KEY

Question No. |[Option§Question No. [Option f Question No. |OptionJQuestion No. |Option
1 D 41 C 81 A 121 B
2 A 42 A 82 D 122 D
3 B 43 C 83 C 123 C
4 D 44 C 84 B 124 B
5 C 45 A 85 A 125 C
6 D 46 A 86 A 126 A
7 A 47 B 87 A 127 C
8 D 48 A 88 c 128 B
9 B 49 A 89 B 129 A
10 B 50 D 90 A 130 B
11 C 51 A 91 B 131 B
12 A 52 B 92 D 132 B
13 A 53 C 93 B 133 A
14 B 54 D 94 C 134 D
15 A 55 B 95 D 135 A
16 A 56 A 96 D 136 A
17 C 57 D 97 D 137 C
18 D 58 C 98 C 138 C
19 A 59 C 99 B 139 C
20 A 60 B 100 B 140 B
21 A 61 A 101 B 141 C
22 C 62 A 102 A 142 B
23 C 63 C 103 D 143 B
24 A 64 C 104 A 144 B
25 C 65 B 105 A 145 B
26 D 66 B 106 c 146 A
27 A 67 c 107 B 147 C
28 A 68 D 108 C
29 C 69 B 109 B
30 B 70 C 110 D
31 B 71 A 111 B
32 D 72 B 112 C
33 B 73 B 113 A
34 C 74 A 114 D
35 C 75 D 115 B
36 B 76 A 116 B
37 D 77 B 117 C
38 A 78 D 118 B
39 D 79 A 119 c
40 B 80 C 120 A




INSTRUMENT MECHANIC THEORY LEVEL-2

Q 1. A small fire breaks out in some electrical equipment. Which is the

best type of fire extinguisher to use to minimise damage to the
equipment? / f&d faggd IusRw & B o7 @7 St g1 M A
IUBHIU DI 4 arell &fd B Aba & AT o ¥ gbR & fngs I3 o1

AT HIAT g9 dfear g

A). Water /tIT:ﬁ
B). Foam /I
C). Carbon Dioxide/ BId SIS
D). Chemical powder/ RIS CR IICE
Q 2. PPE stands for / tﬂtﬂ‘{ Dl Hddd -

A). Power Protective equipment / UldX mefaea ‘s'@trﬁ‘d
B). Personal Protective equipment / Hfaad gR&El YD
C). Personal Protective engine / »fadd gral G

D). Pool Protective equipment / Yol R&THD FUDH U

Q 3. 5S stands for / 55 T Hddd %

A). SORT, SET IN ORDER, SHINE, STANDARDIZE AND SUSTAIN/ ngf gY-,
JATEYT, WA, ATABIHIO X TR

B). SHORT, SET IN ORDER, SHINE, STANDARDIZE AND SUSTAIN/ @ET ,
JHATTYT, WA, ATABIHIO X TR

C). SORT, SET IN OUTER, SHINE, STANDARDIZE AND SUSTAIN/ Hé)f g,
1R AT HRAT, WA, ATHIHI 3R AT/

D). SORT, SET IN ORDER, SIGHT, STANDARDIZE AND SUSTAIN/ HE& Y-,
AT, T, AAHIHRT SR ST

Q 4. For household wiring and small units, the following should be used
for safety measure / OXQ argRI X B IH13A & fag, Fofafaa &
ST Y& & UG & ®U H fobar 11 Fnfg ¢

A). MCB/ THHTH

B). AcB/ TSl

C). ocs/ dtat

D). MCCB/THIHTS

Q 5. The distance a screw thread advances axially in one turn is the: / Udh

T U8 G US IIHR B 3efig U 9 99 &1 g3 P H8d ©:

A). Lead / s



B). Pitch / fUd

C). Turn / e

D). Crest / H

Q 6. Fastener among these is / _Qr'_‘fﬁ quﬁ%

A). Hammer / giﬁST

B). Bolt / SItT

C). File / ToIgd

D). None of these / Sr:ff[ I a?r‘s‘ :[Epf

Q 7. Removing dull grains in order to make grinding wheel sharp is known
as / UIG" &I Idb! I dF 914 & T HE 914 a1 HUT &1 AT Bt
ufhdr & H8d ©

A). Loading / afeT

B). Glazing / ST

C). Dressing / é’ﬁm

D). Trueing / 2'37[

Q 8. The least count of metric micrometer is / ITHE$ IIT'EZEIOAIIF[E? P
ATAH B 7

A). 0.01 mm / 0.01 A HER

B). 0.05 mm / 0.05 fH@HEY

C). 0.10 mm / 0.10 fA@HTEY

D). 0.50 mm / 0.50 fHEHER

Q 9. How many cores are used in a cable for the transmission of voltages
up to 66 kV? / 66 Hdl d® dlecol & TGV & [T TH Had H fbd= IR Bl
SIS fhar Srar g »

A). Single core. / U PHIT
B). Two core. / Eﬁ PIT

C). Three core. / T B
D). All of these / T Tl

Q 10. Direction of rotation of motor is determined by

gui @1 fem &1 Fufo EREGIE

A). Faraday’s law / HUS 1 A

B). Lenz’s law / a1 Rgg

C). Coulomb’s law / ??1"@' CARGEE

D). Fleming’s left-hand rule / T fHT & @ruzf-%vgwﬁun



Q 11. All others are advantages of DC motor over AC motor except __ /

& BIS B g ot T MeR ot ga1 & St e J ure g1 aren dH 8§

A). Low cost / ﬁfH NIRIKS|

B). Wide speed range / dISS s I

C). Stability / fRUaT

D). High starting torque / DS Equ%P[af CISIREED

Q 12. In an induction motor, rotor speed is always : / Udh U7 AYeR ﬁ,
AT B A AR BT § -

A). Less than the stator speed / XTI B AT T HH

B). More than the stator speed /@E? ARG RIRED

C). Equal to the stator speed /@E’? P! T & FIET

D). None of these / sﬂﬁl' I Ch\lig "IE;nI'

Q 13. Current can be measured effectively by making use of _ / &I
WA HId gU [Aggd 411 &) 719 guTd I8P J &1 o1 gDt §

A). d.c. voltmeter / o34t AieeHeR

B). a.c. ammeter / Q.@[. Eﬂﬂf?

C). d.c. ammeter / 1.4, Qnﬂf‘f?

D). a.c. voltmeter / Q.?ﬁ. Jqreeder

Q 14. Current is converted to voltage __ / ﬁa\'ﬁﬁ YT B e H L
wuifaxd fear Srar &

A). through a voltmeter / T dede & JGreEH 3
B). through a resistance / Td ufady gIxT
C). through an ammeter / T THICI G
D). through a galvanometer / T TeaTHIER G-I

Q 15. Which of the following cannot be used as unit for frequency? /

fafafed & ¥ fea® sma iy &t SHIs & © U § 8! fhar o1 IHal g2

A). Hz / B¢d

B). BPM / SITUITH

C). RPM / 3RUITH

D). S/ WY

Q 16. Which formula shows a direct proportionality between power and
voltage? / &I I g Al 3R Aiee & a9 U@ snaurfasmar & uefdfa
HIA B2 /

A). V = IR



B). P = VI

C). P =IR

D). I = V/R

Q 17. The capacitor doesn’t allow sudden changes in _ / aﬂ?{ﬁﬁf? _ e
A% uRadd &t srgufa a8t a1 g1

A). Voltage / qrees

B). Current / ﬁﬁfﬂﬂ Y10

C). Resistance / gfavry

D). Capacitance / griean

Q 18. The Inductor doesn’t allow sudden changes in ___ / 384X _ |
A% aRkadd &t gafd A8 <a1 g |

A). Voltage / A

B). Current / ﬁa?ga TRT

C). Resistance / ufady

D). Inductance / grfear

Q 19. What are the charge carriers in semiconductors? / 3{&9-?[?[$ H ®I-

DT Y AMIY JATEP 8Id @ ?

A). Electrons and holes / _5'@[?@'[7‘[ 3R BT

B). Electrons/ ‘s’@raij:r

C). Holes/ IET

D). Charges/ 3MaAY

Q 20. Which of the following is a semi-conductor? / ﬁﬂﬂﬁf@ﬁ e a?r:r T
H&-ATAD §?

A). Diamond/ ?ﬁ?‘f

B). Arsenic/ AP

C). Phosphorous/ HITHIRY

D). Gallium arsenide/ ﬁﬁ’qu &Hﬁ:ﬂ_&'g

Q 21. A semiconductor in its purest form is called...... / TUh G{e._cf—%ﬂﬂ% Ca
SIF ITA YE ®UH ... FEd ¢ |

A). Insulator/ gﬁaf?

B). Superconductor/ JUx HIICT

C). Intrinsic semiconductor/ AT Irdfardd

D). Extrinsic semiconductor/ 31l4$'<0l4nl 3'[‘c'lrr4|c10b

Q 22. Holes in n-type materials are called / T9-UHIX I grafragr ﬁ%’?{ﬁ
H8d 8




A). majority carriers/ dgﬂ@lcb dig

B). minority carriers/ I D dIgH

C). medium carriers/ HYH d[gh

D). zero carriers/ X[ dlgh

Q 23. A semiconductor is formed by ......... bonds. / Udh @[&c—iﬂa$ CAREE: Y]

...... Y g1 g1 g

A). Covalent/ UEHUIN D

B). Electrovalent/ s'?faejaé‘rd

C). Co-ordinate/dHdY

D). Hydrogen /ET'Q'@GF-[

Q 24. CRO stands for ______ / AreRell 1 HAds ___ gIal g

A). Cathode Ray Oscilloscope/ FUNS Y NN

B). Current Resistance Oscillator/ ®XC IET e’

C). Central Resistance Oscillator/ @f‘ga Iy riydeR

D). Capacitance Resistance Oscilloscope/ FUfyeg IR ARTAwIT

Q 25. What is the main advantage of using a digital storage oscilloscope?

/ TF fefoied ©RS AATGRN BT SWHTA B & T Y 82

A). uses digital storage/%ﬁﬁfa WIS BT IUAT Bl %

B). uses analog storage/lf:ﬂFﬁT[ TINS BT YT HIdl %

C). uses mixed mode storage/ iws Iﬁ@ WIS BT I HIdl %

D). uses disc storage/%@ TINS BT I HIdl %

Q 26. Convert the binary number (01011.1011)2 into decimal: /aT‘s’:rﬂ K
(01011.1011)2 I GYHAT H Fqq:

A). (11.6875)10

B). (11.6875)10

C). (11.6875)10

D). (11.6875)10

Q 27. What is the addition of the binary numbers 11011011010 and
010100101? / SIS 49 11011011010 3 010100101 HT AT T GIT?

A). 0111001000
B). 1100110110

C). 11101111111
D). 10011010011



Q 28. The expression for Absorption law is given by / TN & [AgH
gfamfea fear g

A). A+AB = A

B). A+AB = B

C). AB+AA’ = A

D). None of these / g:{ﬁ q aﬁs‘ :ng

Q 29. According to Boolean law: A +1 =7/ qj%wq g9 & SR A +1
=?

A). 1
B). A
C). 0
D). A’
Q 30. 8051 series has how many 16 bit registers? / 8051 %I@FIT ¥ fodd 16

fye AT B g2

A).
B).
C).
D).
Q 31. The internal RAM memory of the 8051 is: / 8051 3| 31TH13\7$3\’I[ pE g2 bi|

g

o Fkr W N

A). 32 bytes/32 digcyd

B). 64 bytes/64 dlgcy

C). 128 bytes/128 dlgcH

D). 256 bytes/256 digcy

Q 32. The 8051 has 16-bit counter/timers. / 8051 H

16-f9c ®IIeY/ezaAR B

A). 1

B). 2

C). 3

D). 4

Q 33.In 8051 the I/O ports that are used as address and data for external
memory are: / T8 AAY & 1T TSY iR ST & = U ¥ IUAIT fHar oA
arem 8051 H 3% /37 O §:

A). ports 1 and 2//@[_{?[ 1 G?RF 2



B). ports 1 and 3/ tﬁ%ﬂ 13T 3

C). ports 0 and 2/ tﬁ_(fﬂ 0 3T 2

D). ports 0 and 3/ tn_cfﬂ 0 3T 3

Q 34. What is the span of an ammeter with range -30 to +30A? / dar-30 9
+30T & WY TH THIER o1 fawdR foam giar g2

A). 60

B). -60

C). 30

D). 20

Q 35. A transducer converting ground movement or velocity to voltage is
known as : / AT3E HIHU<T TT 37 Bl Aees A yRafdd HI7 a0 TH AR
Pl HEA B :

A). Geophone/ﬁrftﬁtﬁf:f

B). Pickup/fU® 3y

C). Hydrophone/ﬂ%@‘ﬁq

D). Sonar transponder/H\I'-IIQ gi{-ILI\I'S(

Q 36. Which of following represent active transducer? / fgfafea d7 9
DI I UF Gfhy crasgar & ufafifia srar g »

A). Strain gauge/@,\:f S

B). Thermistor/QIﬁ-fE?

C). LVDT/UddISIct

D). Thermocouple/ yAfeUd

Q 37. The displacement measuring instruments is / are : /ﬁ@ﬂqq CARICE]
ardr IUBR ¢

A). Potentiometer /ﬁ‘uamlﬂ

B). LVDT/UdAdISIcl

C). RVDT/ A Sl

D). All of these / T Tl

Q 38. LVDT windings are wound on /Qaabf@ﬁipf dlé%‘l I AUCT ATl %

A). Steel sheets/@ﬁ e

B). Aluminium/TegHifAgy

C). Ferrite/eFT['s’?_r

D). Copper/ﬁqq

Q 39. LVDT is an/a transducer /Qaa°r3°re°r Th

SIS §



A). Magneto-strict ion/'a‘.}[a-]%\af AT

B). Inductive/ggﬁﬁ

C). Resistive/qﬁ‘fﬁ?ﬁ

D). Eddy current/ng DT

Q 40. Which of the following represents obstruction type flow measuring
systems? /MRS & § 317 I 3aAy YHR yarg &t Wy yonfaar o1
gfaffiaE s g2

A). Centrifugal force type / @TTCAQTTREETFT v cIgyu

B). Rotating vane system/ AT a7 Rien

C). Flow nozzle device/ tﬁﬁ "I\I\!1Q1 %dl%ﬂ

D). None of these / g:fff I a?r‘s‘ '_-f?)f

Q 41. The rate at which fluid flows through a closed pipe can be
determined by : / U®% §¢ UISU ¥ BIHR oIk aTd &9 &1 H YR fwar Srar

g

A). Determining the mass flow rate/ HIYH Tl g% &1 iR s3%

B). Determining the volume flow rate/ ?ﬁ?{[‘:{ Tl g3 &1 iR s

C). THATT UATE MR ITT dTE & &Il HI FuR0 HIP

D). None of these / 3-_-[3}[ I EF;T% :[éf

Q 42. For the measurement of flow the cheapest device is / Udlg CARE e

¥ T gad ot fTazy &

A). Venturi/agﬂ

B). Dall flow tube/ 8d Tl Qd

C). Flow nozzle/q'?ﬁ CISEN]

D). Pitot static tube/ﬁ_cpf_cr 1%1%&7 Xd

Q 43. In ultrasonic level gauge, the ultrasonic source is placed at the /
AECTAAF dqd TS 8, SegrAFed Aid &I 39T Sdl 8-

A). Bottom of the vessel containing the liquid/dXd l-{QI?f gdd ddr'-l aﬁﬁrzﬁ
T

B). Top of the vessel containing the liquid/dXd geref gdd gd9 & Iud
fgwar o

C). Middle of the vessel containing the liquid/dXd HQIQf Yad gdq P S
arar fown |

D). Far from the vessel containing the liquid/dXd gary gad gaq 9 [+§

Q 44. Sl unit of temperature is / dATTHIT HI QH\HT'ES qﬁe %

A). Kelvin/aafc';q’:[



B). Second/@%g

C). Celsius/ﬁﬁmﬂ

D). Joules/[dl

Q 45. The result of the act of adjustment is called /HIITZﬁGf:f P BT B
gRoma & $Td §

A). Response / ufafear

B). Command | HHIS

C). process control / oy $_§>[Ff

D). process controller / mayg $_§;f?1'?

Q 46. The subsequent result of the system to the command is known as /

RI%en 9 HUie & Jadl aRumd & Fgd §

A). Response / ufafear

B). Command ] HHIS

C). process control / mayg $§Pf?f

D). process controller / mayg $‘§ra?

Q 47. The automatic control of variables is known as /%rﬁ & arerafes
H3d Pl HEJ 7

A). Response / ufafear

B). Command / HHS

C). process control / mayg $_§[?T

D). process controller / mayg $@Fﬂ

Q 48. The device used to keep the variables at a constant desired value is
called as /3% &I AIAR SfFd 719 U @A & T SAATS fHT &1 a1
TSIV &I FJA §

A). Regulator /%‘ﬂ@f??

B). kinetic control /‘T%Gf IBRELY

C). feed back / BISTH

D). error detector / UX feex

Q 49. The instrument measuring the output of the machine for
comparison with the input to the machine is known as __ /mfﬂq$
39T & WY g & [T 939 & 313TYc HI U4 91d SUSIV Bl ___ &
w0 # ST Al §

A). Regulator /%ﬂ@f??
B). kinetic control /Tfﬁf\_rf IERELY



C). feed back / tﬁofga$
D). error detector / UXX feeF
Q 50. Which of the following cannot be an input that is given to the PLC?

(Fafafad & § o9 o drradt &1 faar S arar vs 39Y< T8 8 9Fdl 82

A). Manual switches / frqa{a a9

B). Relays / o

C). Sensors / T3

D). None of these / ‘s’qfr I a?r‘s‘ :[Epf

Q 51. of PLCs can be done in very little time. /tﬁQﬂﬁ[ &

® 9gd & IHT & g7 fHar o 9 gl

A). Programming / PIpIIEER

B). Installation / TYTUHI

C). Commissioning / HHRET

D). Programming, installation and commissioning / QET‘JITEWT, LYTYT,
EIRUEE

Q 52. Which of the following mode of signals cannot be transmitted using
telemetry? / CAIACI &1 ITAT B Fafafad O ¥ v {aa & dig &1
ciafire At foar o1 9o ar 32

A). Audio / Ifffsar

B). Visual / ﬁﬂga{a

C). Pictures / qw

D). None of these / 373[ I ﬁé :[_sof

Q 53. The disadvantage of DCS over analog control system is in /Q:ITFIT‘T

Hod e & ga & Sy 9 @17 ardl g1 8

A). Speed / fd

B). Diagnostics / SIaMfeay

C). Flexibility / REIGEGI

D). Noise immunity / MR I gfaver

Q 54. A SCADA system will include : /QH@Q@Q o | wfad Bpfﬁ :

A). signal hardware (input and output) controllers /ﬁ[ﬂﬁ Sléaq{ (e9Yc<
3R 3MITYT) HATR

B). Networks / TR}

C). user interface (HMI), communications equipment and software Jui}
gXBY (TITASANS), AR IUSI 3R e daq

D). All of these / T gt




Q 55. Which of the following is used as a source in the simple infrared
Analyzer for gas analysis? / g gy & f@fq gqrHY _&':55[3\’3 fovys o
9d & ®u ¥ Aufafed o fGe sama fear sar g2

A). Tungsten filament lamp / ¢TI frarde du
B). Nernst glower /aﬁé TG

C). Hot-wire spiral / BIC-aTgY WIS

D). Mercury arc lamp / AHY P dU

Q 56. Which of the following is not correct for data loggers? / fgfafaa o
T DI 3T AR & I8y T I 81 g2

A). Portability / tﬁéﬁd’ﬁf?ﬁ

B). Battery less / é‘&"r-?%a
C). Small / ®ICI

D). All of these / T gt

Q 57. Data logger system have

A). Slow sampling rate / &THT THAT &}

B). Fast sampling rate / as THAT &}

C). Unpredictable sampling rate / g JHAT &X

D). zero sampling rate / [ THAT &}

Q 58. Data logger deals with ____/ gaam & 1Y BT Bl %I
A). Digital signals / fsfoea Rua

B). Analog signals /Q:HFIT‘T RPN

C). Both digital and analog signals /%ﬁlfa 3T U:ITFIT‘T IR Eﬁ:ﬁ

D). virtual signals / 3%3‘[?[ ua

Q 59. What is the effect of change in Reynold number on friction factor in
turbulent flow? / [A&s UaTg & Y0 RS UR YAl & & aRadd &1 &1
ERIERS GG

A). As the Reynold number increases the friction factor increases in
turbulent flow / S-S Y8 U1 9l ¢ [y« Uarg & g¥0 RSP d¢
ST §

B). As the Reynold number increases the friction factor decreases in
turbulent flow / Y-S Y78 GBI dga 8, fAefs Uarg & g¥0 H1IF °c
ST §

C). Change in Reynold number does not affect the friction factor in
turbulent flow/ YAce ¥& # gRadH fags garg & a0 RS &1 guIfaa
81 B




D). The effect due to change in Reynold number is unpredictable /3\’:1'\[!0_6'
g1 & yRadd & I g3 UHId AT grell &

Q 60. A differential manometer is used to measure ................ / Uh

fewy=a Affex dr3ua ___ g+ & e fear o g

A). Pressure in pipes, channels etc. / UIRU , EEK| afe A ald

B). Very low pressure / dgd EEEAC]

C). Difference of pressure between two points / al ﬁ_g"\?rﬁ C | R
3aR

D). Atmospheric pressure / dlg-qld

Q 61. The most economical section of a rectangular channel for maximum

discharge is obtained when its depth is equal to .............. / HYHdH
fAdgT & fOIT T& MIATHIR I9d BT IIY b BIadt TS 99 W gidl § od
SYBI IS F IER gl B

A). Its breadth / 3?550[ EﬁET'ﬁt

B). Half its breadth /3?[35‘3[ et E?[ST'SC

C). Twice its breadth / S®! WSS J g1

D). One-third its breadth / 3?3"?[ %ﬁsﬁ@t Q$-ﬁf€T§

Q 62. Which of these is the fastest switching device? / 3:fff I ﬁ:f IIgq
I Rafin feargw &2

A). BJT / Sioict

B). Triode / E\TEI.TS'

C). MOSFET / AIGhT

D). JFET / SIUHRC

Q 63. The input signal for an instrumentation amplifier usually comes

from ...../ SEACYT TWABIAR & AT §7ge Rad 1AM U 9

A). A resistor / Tsh UfdAus

B). A Wheatstone bridge / U dewT 9

C). A differential amplifier / Th fswIfRga Qm?ﬁtﬂq?

D). An inverting amplifier / T 'irdlfé‘l '\”-LJQ'IGIH”IQQ

Q 64. How can thyristor be protected from over voltage? / I e
AIRER B fFT yaR WxfErd fsar o1 awar g2

A). By using heat sink / gic Ri® &1 U HID
B). By using a fuse / TIS &1 YT HIh
C). By using a snubber circuit / Td HdX gfhe &1 ynT HIPH



D). By using a voltage clamping device / e Tt ]%EITE’H T AT
BHID

Q 65. What is a potentiometer used for? / Udh meRrAdes &1y fFas
fae forar Srar g2

A). To measure electric power / ﬁf{ga gfed & A1 & ﬁ‘fq

B). To measure electric current / ﬁ({ﬁﬂ Udig P HIUA & ﬁ'TQ

C). To measure potential at a point / Td ﬁ_gr O &Hdr P AU & ﬁ'ﬂl

D). To compare emf of two sources / _Q;f ardl & s‘qnqw BT dd-r HIA D
forg

Q 66. Which of these is the best material for a standard resistor? / QUES:
fady® & T 999 w1 uard &9 I §»

A). Aluminium /Q?gzﬁﬁt['q

B). Copper / didl

C). Manganin / FfAT

D). Platinum /@Iﬁ:ﬂ:{

Q 67. Which of these fails most frequently in amplifiers? / Qm?‘ﬁtﬂqﬁ H
3% ¥ 7 99 AT IR BT gl 82

A). Resistor / ufady®

B). Transistor / @ﬁf??

C). Electrolytic capacitor / ﬁ?{ﬂﬁ—\?{qﬂg:ﬁ FURIeR

D). Ceramic capacitor / e Hafyex

Q 68. The Boolean equation for OR gate is............... / OR e P @ﬁ‘[’q:f
TSI T g2

A).C=A+B

B).C=AxB

C).C=A.B

D).C=A*B

Q 69. CRT converts electrical signals into ................. / CRT ﬁ&fﬁa Idhdl Bl
# gfkafdd &3 g

A). Ultraviolet signals / g b dr

B). Infrared signals / QFWI\QS Gopal

C). Visual signals / faxge’{a godi

D). Electronic signals / $€1d§Tﬁ¢> Gpal

Q 70. A flip flop has ..ccovvviiiiiii . stable states. / Udh oy warg o

Y srawyr gidt g1




A).
B).
C).
D).
Q71. PLC USE .iiviiiiiiiiiiiieeeeenn for programming. / oot & ﬁﬂ'\f PLC
®1 IUTIT BT 5|

w N

N

A). Boolean algebra / Qfﬁq S

B). Phaser diagram /ﬁs\_ﬂ? SIIUH

C). Both Boolean algebra and phaser diagram/ Tq’fﬁq Stefora i ﬁﬁfﬂ?
STgUTH Sl g

D). Ladder diagram /%3? SIIYUH

Q 72. Field bus can be used in ............... based system. /qﬁc—s- dY DT
IudT myTRa gomeht # fhar o1 g 7

A). SCADA

B). DCS

C). PLC

D). All of these / T gt

Q 73. The working principle of radiation pyrometer is based on ..............
fafeyor urgdiey &1 w1d frgia __ oR et g 3

A). Wien's law / a9 &1 ATy

B). Kirchhoff's law / CREICACARGEE:]

C). Seebeck effect / Ha® YHIG

D). Stefan Boltzmann law / &I ﬁaﬁﬁq g

Q 74. Platinum resistance thermometers (PRTs) have temperature of

............ ) @feau IR yafdfes (pr1s) ®ammHT @A g
A). 100 to 1000 degree C/ 100 ¥ 1000 [$W ¢

B). Minus 100 to 700 degree C / AT3AY 100 ¥ 700 f$t ¢

C). Minus 200 to 850 degree C / AT3AY 200 ¥ 850 &% ¢

D). Minus 200 to 1000 degree C/ AT3AH 200 ¥ 1000 T84t ¢

Q 75. Counters and timers are .......covvvvvvinn... to PLC. / P13 3?[? clgHR

fuad & I |

A). Internal / 3<X
B). External / dIgX



C). Both internal and external / 3<X 3?[? digR a'_‘heof
D). Neither internal nor external / I ar e A _6% digX
Q 76. Which metal is drilled dry without use of any coolant? / fdt

Hrads & 971 59 urg o Yb foa fear ran g2

A). Aluminium /Q@iﬂﬁmﬂ

B). Mild steel / {g S¥Id

C). Cast iron / GQdl &GI

D). Titanium / IgcHaH

Q 77. What type of fastener is used to prevent movement between shaft
and wheel? / MT¥C 3R A & &g B! Td B AHA & [ T IR &
BIREAR &1 SUANT fohar Srar g2

A). Machine pins / AT fUF

B). Rivets / ﬁafﬂ

C). Keys/ arfear

D). Knuckle / 9 d

Q 78. A feeler gauge is used to check .................. / P! ST HIA
& T U WA A9 &1 IUAT far o g

A). Surface roughness / ddg GXaTU-

B). Screw pitch / ¥ fug

C). Depth of a hole / TUdh B ﬁ”gﬂ_g

D). Clearance between mating surfaces / faas arel H?‘[a & &t BT BTy
Q 79. Flapper nozzle isused in ................... controller. /tlﬁq? AT BT

SUAMT___ Herar o fear onar g

A). Electronic / gaaﬁffﬁ$

B). Hydraulic / ET_%@%$

C). Pneumatic / qIgaig

D). On-off / 379-3TH

Q 80. Which of these is the dynamic characteristic of instruments? / gqﬁ
T T IUBIOT B TATHSD AU g2

A). Accuracy / Uf\"ﬂq—s{ﬂT

B). Precision / J&HI

C). Sensitivity / Gaga=ftaar

D). Fidelity / fay&ad

Q 81. The smoke density of flue gas coming out of chimney is measured by

............. / RE @ Aeas ardl v A9 & 4T &1 g9@ GI_T AT



ST g |

A). Polarograph /tﬁaﬂ‘}ﬂtﬁ

B). Chromatograph / HIATIATH

C). Photo-electric cell / uﬁa-gﬁ@aﬁ ad

D). Thermal conductivity meter / yHd Hefaefad Mex

Q 82. A load cell is a transducer that is used to create an electrical signal
whose magnitude is directly proportional to the .................... being
measured. / U% TS Jd UH <IUSIAR € foI9H IUAT faggd Rud 9717 &
fotu fea srar & s oRmwoag s @ . & U g g

A). Temperature / dIUHIA

B). Velocity / aT

C). Force / dd

D). Strain / d-dTd

Q 83. Strain gaugeisa/an ............eeunn. / @ffﬁ\_ﬂQ$ Eﬁ?ﬂ%l

A). Active device that converts mechanical displacement into change of
resistance / Gihd IUBHIU o FiAF favurgs & gfady gfvad= & gRkafda
CR

B). Passive device that converts electrical displacement into change of
resistance / AT%ra f&argyw o faggd favurys &1 ufa’iy ufvada & ufvafda
HIAT §

C). Passive device that converts mechanical displacement into change of
resistance/ MT%pg fSarsd o aifi® favurud & ufaty ufkada & gRafda
HIAT §

D). Active device that converts electrical displacement into change of
resistance/ AfhT ITHRY S fagga Ay &I ufaxry aadq & uRkafda
ST ©

Q 84. The linear variable differential transformer transducer is / fafax
INTIT FewITT TTIHIHR THaSgar &-

A). Inductive transducer / U ;iasq\w

B). Non - inductive transducer / RIS giﬂsq\w

C). Capacitive transducer / Fufyfea TR

D). Resistive transducer / Ufaeh TSI

Q 85. With the increase in intensity of light, the resistance of a
photovoltaic cell / UHIY ®I digdl ¥ G & Y, TH Bicidlifecd A &I
gy gl




A). Increases / dedl

B). Decreases / Ycdl

C). Remains the same / HHIH Xgdl

D). May increase or decrease / dg 4l YcC oo dl %

Q 86. The energy meter installed in households is a type of .................. /
g} T AT g3 TAST HeX TH UHIR &l g g

A). Indicating instrument / dohd g aren g

B). Integrating instrument / ‘s’é’rﬁz CRERCINIKE]
C). Recording instrument / RIS HIF aram I3
D). Absolute instrument / ﬁ&‘:{ﬁﬁ g3

Q 87. There is no process loss in same line size ............... flow meters. /

TS gl A5 F3H b A dieX o I WA arg 81 grdl o |

A). Turbine / CYdIgA

B). Magnetic / ﬂﬁﬁq

C). Vortex / ada

D). Rotameter / JderHteR

Q 88. When a weir is placed in an open channel, which of these factors is
used to determine fluid flow rate? / 91§ U 1Y (ATR) B TH JA I9d A
@ A1 7, A $98 § DI 9 FRS &9 Uas &R Fuika $37 & fag Iudm
forar Srar g2

A). Pressure / ald

B). Weight / HIX

C). Level / X

D). Clarity / H‘.:b—f—sc

Q 89. A venturi meter measures ..........oeevee... flow rate. / U égﬂ Hiex
________ UdIg g3 &I HIUGT § |

A). Mass / sHIA

B). Volumetric / Mg aHt

C). Mass and volumetric / SUHIA 3N rgq-

D). Mean / aNgd

Q 90. If there is a risk of materials flying into your eyes, you should wear
........... / afg st il § ITA §U SIS A o1 &1 S g, O MUl
gga AR

A). Chemical-resistant goggles / IHIIH gfaddt I
B). Tinted welding goggles / fees afET g



C). Impact-resistant goggles / gyrg-gfadet I

D). Laser safety goggles / SIS Y& IJTH

Q 91. Your colleague is complaining of breathlessness and a tight pain in
the chest. You suspect of heart attack. What should you do? / 3TU®D]
TgHHf g Faa iR WA ¥ a< &) RH19d HIAT §| 3MUD! §IE ACH B
RABT §| HTAD! FT HIAT Afg?

A). Get him to lay down flat / IID! AeT AT dI o SrAT

B). Encourage him to stand up and move around slowly / ISP @'3 Eﬁ%f
MY 4R IX I@ B drrfed &3

C). Make him sit in a comfortable position / IT®! MAAGIIS YT &
CrILgl

D). Give him a cold drink / I DT %’$ %ﬁ

Q 92. What first aid should be given if someone has cut his arm and is
bleeding profusely? / TR f&H T 7 U= §ig FHIC & § MR I 9gd AUH
AT g XET 8, O 7 wufde fafewn & o afewe

A). Put the injured limb in cold water / Yldd 3T ® &S WA H ST

B). Apply direct pressure over the wound / YTd UX dtem gaTg SIa

C). Give him an aspirin / 3 Tdh Q@f\’q %ﬁ

D). Wipe the blood away / Y- IET]

Q 93. Which of the following is the first phase of 55? / fgfafea 7 9 G|
55 &1 Ugdl I §?

A). Seiri / I

B). Seiton / deq

C). Seiso / G4l

D). Seiketsu /ﬁg%&ﬁ

Q 94. A micrometer works on the principle of ................. / Udh IIT_&rﬁIﬁE?
& fIgid IR H1H HIA 5|

A). Screw / ¥p

B). Stud / ¥ S

C). Bolt / A

D). Bolt and nut / e 3R A¢

Q 95. The least count of vernier caliperis ................ / dIHux 2|’>I g DT
AP B-

A). 0.01 mm/ 0.01 f&h.
B). 0.02 mm/ 0.02 &,



C). 0.001 mm / 0.001 Tt

D). 0.002 mm / 0.002 &,

Q 96. Which type of relay is used to protect equipment from damage
during under or over voltage fault? / 38X 4T MR e Biee &b aﬂ:f
SUBIV B &fd ¥ §37 & AT 59 gsrR & R &1 waiwT foar anar g2

A). Current sensing relay / HI< IR Ra

B). Under current relay / 38X HIT Ra

C). Voltage sensing relay / drees IR Ra

D). Latching relay / dafi Rka

Q 97. Which of these is also a part of electromagnetic relay? / 3'_'fff q HIF
1 faggd gwarg Ra &1 ot vw feww g2

A). Armature / rHER

B). Brushes / §X[

C). Commutator / $D{[\%E?

D). Stator / Proreky

Q 98. The DIAC is used as a triggering device for ............ / DIAC T g
¥ fau us fR7R fearsy & wu A fbar e 7|

A). UIT

B). TRIAC

C). SCR

D). FET

Q 99. A single digit 7 segment LED display has .................. connection

pins. / T®H Ria fgfire 7 9de Lep feva & HAad U gia
gl

A). 6

B). 7

C). 8

D). 14

Q 100. RVDTs are ratiometric devices with the sensitivity commonly

expressed in volts out per degree, which is called ......... / RVDTs

dagasiiaar gaa IRAAR®E fSarsy § o onadR R ufd fE3M diwe a3 &
ad P o 7, S b HEA |

A). Accuracy / Uﬁﬂl&'?ﬂ
B). Scale factor / W o



C). Cross talk / HIg TP
D). Dual cycle / &Jd Wgﬁ?ﬂ

Q 101. Which flow meter is best suited for measuring flow rate of slurry?

/ BT B UAIE &I B! ATYA & fIT S 91 vl WeR 999 IuYad g2

A). Impeller flow meter / ‘s"ﬁa? Tdr Hex

B). Thermal flow meter / yHT Tl Hiex

C). Rotameter / JeTHe

D). Electromagnetic flow meter / ‘s'@razfrﬁﬁ%$ Tl Hiex

Q 102. A rotor is one of the elementsina .................... / Q$ﬁ€?
_________ # uforde # 9 ts §)

A). Magnetic flow meter / AAfe®d A HieR

B). Turbine flow meter / CYdISH Tdl Hiex

C). Thermal flow meter / yHd gl Hiex

D). Ultrasonic flow meter / G{E\T@fﬁ$ Tl Hiex
Q 103. The ciiviviiiiiiiiiiin is used as pressure transducer. / C2ll
YR TYSYII & =T § gAT fpar o 2|

A). Servomotor /H?ﬁ e
B). Electro pneumatic converter / g@ra%j FIIRT HTIER
C). Potentiometer / g RraHex (ﬁuamﬁ)

D). Control valve / $U§P[FT dl'ed



Level 2 Answer Key

Question No. Option Question No. Option Question No. Option
1 D 41 C 81 C
2 B 42 C 82 C
3 A 43 A 83 C
4 A 44 A 84 A
5 A 45 B 85 B
6 B 46 A 86 B
7 C 47 C 87 B
8 A 48 A 88 C
9 C 49 C 89 B
10 D 50 D 90 C
11 A 51 D 91 C
12 A 52 D 92 B
13 D 53 A 93 A
14 B 54 D 94 D
15 D 55 c 95 B
16 B 56 B 96 C
17 A 57 A 97 A
18 B 58 A 98 B
19 A 59 B 99 C
20 D 60 C 100 B
21 C 61 A 101 D
22 B 62 C 102 B
23 A 63 C 103 C
24 A 64 D
25 A 65 D
26 A 66 C
27 C 67 C
28 A 68 A
29 A 69 C
30 A 70 B
31 C 71 D
32 B 72 D
33 C 73 D
34 A 74 C
35 A 75 A
36 D 76 C
37 D 77 C
38 C 78 D
39 D 79 C
40 C 80 D




